USDA Cold Treatment Temperature Log Sample XML

<?xml version="1.0" encoding="utf-8" standalone="yes"?>
<sensorDataDocument xmlIns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:noNamespaceSchemalocation="tempLogReport.xsd">
<header>
<containerNum>SUDU5225787</containerNum>
<recorderSerial>E001062156</recorderSerial>
<controllerSerial></controllerSerial>
<correctionFactinCelsius>
<usdal>0.0</usdal>
<usda2>0.0</usda2>
<usda3>0.0</usda3>
</correctionFactIinCelsius>
</header>
<data>
<dataline>
<date>2018-10-27</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>18.2</sup>
<ret>18.0</ret>
<usda>
<s1>18.0</s1>
<s2>18.0</s2>
<53>18.0</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.1</ret>
<usda>
<s1>18.1</s1>
<s2>18.1</s2>
<53>18.1</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.1</ret>
<usda>
<s1>18.2</s1>
<s2>18.2</s2>
<s3>18.2</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.3</ret>
<usda>
<s1>18.3</s1>
<s2>18.3</s2>



<s3>18.2</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.3</ret>
<usda>
<s1>18.3</s1>
<s2>18.3</s2>
<s3>18.3</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.3</ret>
<usda>
<s1>18.3</s1>
<s2>18.3</s2>
<53>18.3</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.3</ret>
<usda>
<s1>18.3</s1>
<s2>18.3</s2>
<s3>18.3</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>18.3</sup>
<ret>18.3</ret>
<usda>
<s1>18.3</s1>
<s2>18.4</s2>
<s3>18.3</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>18.5</sup>
<ret>18.4</ret>
<usda>
<s1>18.4</s1>



<s2>18.5</s2>
<s3>18.4</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-27</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>18.6</sup>
<ret>18.7</ret>
<usda>
<s1>18.6</s1>
<s2>18.6</s2>
<$3>18.6</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-27</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>19.0</sup>
<ret>19.1</ret>
<usda>
<s1>18.9</s1>
<52>18.9</s2>
<s3>18.9</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-27</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>19.5</sup>
<ret>19.7</ret>
<usda>
<s1>19.4</s1>
<s2>19.4</s2>
<s3>19.3</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-27</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>20.0</sup>
<ret>20.4</ret>
<usda>
<s1>20.0</s1>
<52>20.0</s2>
<53>19.9</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-27</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>20.6</sup>
<ret>20.9</ret>
<usda>



<51>20.6</s1>
<$2>20.6</s2>
<53>20.6</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>21.0</sup>
<ret>21.4</ret>
<usda>
<s1>21.1</s1>
<s2>21.2</s2>
<s3>21.1</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-27</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>21.3</sup>
<ret>21.6</ret>
<usda>
<s1>21.6</s1>
<52>21.6</s2>
<s3>21.5</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>21.5</sup>
<ret>21.7</ret>
<usda>
<s1>21.8</s1>
<52>21.8</s2>
<s3>21.7</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-27</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>21.5</sup>
<ret>21.7</ret>
<usda>
<s1>21.7</s1>
<$2>21.8</s2>
<s3>21.7</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>00:00:00</time>
<setp>0.0</setp>
<sup>21.3</sup>
<ret>21.6</ret>



<usda>
<s1>21.6</s1>
<s2>21.6</s2>
<s3>21.5</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>21.1</sup>
<ret>21.2</ret>
<usda>
<s1>21.3</s1>
<52>21.4</s2>
<53>21.3</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-28</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>20.8</sup>
<ret>21.1</ret>
<usda>
<s1>21.1</s1>
<s2>21.2</s2>
<s3>21.1</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-28</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>20.6</sup>
<ret>20.7</ret>
<usda>
<s1>20.9</s1>
<52>20.9</s2>
<$3>20.8</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>20.4</sup>
<ret>20.6</ret>
<usda>
<s1>20.6</s1>
<52>20.7</s2>
<$3>20.6</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>20.1</sup>



<ret>20.4</ret>
<usda>
<s1>20.4</s1>
<52>20.5</s2>
<53>20.4</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>20.0</sup>
<ret>20.2</ret>
<usda>
<51>20.2</s1>
<s2>20.3</s2>
<$3>20.2</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>19.8</sup>
<ret>20.1</ret>
<usda>
<s1>20.1</s1>
<s2>20.1</s2>
<$3>20.0</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>19.8</sup>
<ret>19.9</ret>
<usda>
<51>20.0</s1>
<52>20.0</s2>
<s3>19.9</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>19.6</sup>
<ret>19.7</ret>
<usda>
<s1>19.8</s1>
<$2>19.9</s2>
<$3>19.8</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>10:00:00</time>
<setp>0.0</setp>



<sup>19.5</sup>
<ret>19.7</ret>
<usda>
<s1>19.7</s1>
<$2>19.8</s2>
<s3>19.7</s3>
</usda>
<flags>P</flags>
</datalLine>
<dataline>
<date>2018-10-28</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>19.5</sup>
<ret>19.6</ret>
<usda>
<s1>19.7</s1>
<s2>19.7</s2>
<53>19.6</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-28</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>19.5</sup>
<ret>19.6</ret>
<usda>
<s1>19.5</s1>
<s2>19.5</s2>
<$3>19.5</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-28</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>19.6</sup>
<ret>19.7</ret>
<usda>
<s1>19.5</s1>
<s2>19.5</s2>
<s3>19.4</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>19.6</sup>
<ret>19.9</ret>
<usda>
<s1>19.6</s1>
<s2>19.6</s2>
<s3>19.5</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>15:00:00</time>



<setp>0.0</setp>
<sup>20.0</sup>
<ret>20.2</ret>
<usda>
<s1>19.9</s1>
<52>19.9</s2>
<$3>19.9</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>

<date>2018-10-28</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>3.5</ret>
<usda>
<s1>0.5</s1>
<52>2.6</s2>
<s3>4.5</s3>
</usda>
<flags>PO</flags>
</dataline>
<dataline>

<date>2018-10-28</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>1.6</s1>
<s2>0.0</s2>
<s3>0.8</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-28</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.9</s1>
<s2>0.0</s2>
<s3>0.8</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-28</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>1.1</s1>
<s2>0.0</s2>
<53>0.8</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-10-28</date>



<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.0</s2>
<53>0.8</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-10-28</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<53>0.8</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<s2>0.0</s2>
<53>0.8</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-10-28</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.8</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.1</s2>
<s3>0.8</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>



<date>2018-10-29</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<s2>0.1</s2>
<53>0.8</s3>
</usda>
<flags>P</flags>
</datalLine>
<dataline>
<date>2018-10-29</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<s2>0.1</s2>
<53>0.7</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>
<date>2018-10-29</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.1</s2>
<53>0.7</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-10-29</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.1</s2>
<53>0.7</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-10-29</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.1</s2>
<s3>0.7</s3>
</usda>
<flags></flags>
</dataline>



<dataline>
<date>2018-10-29</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.7</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<52>0.2</s2>
<s3>0.7</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.2</s2>
<53>0.7</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.2</s2>
<53>0.7</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<52>0.2</s2>
<53>0.7</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-10-29</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>
<flags>D</flags>
</datalLine>
<dataline>
<date>2018-10-29</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<53>0.6</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-10-29</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.4</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.5</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>



<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<53>0.6</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>
<flags>P</flags>
</dataLine>
<dataline>
<date>2018-10-29</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<53>0.6</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-10-29</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<53>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<53>0.6</s3>



</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<53>0.6</s3>
</usda>
<flags>P</flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<s2>0.3</s2>
<s3>0.6</s3>
</usda>
<flags>PD</flags>
</dataline>
<dataline>
<date>2018-10-29</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-30</date>
<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-30</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>



<s3>0.6</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-10-30</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-30</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<$3>0.6</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-30</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>

<s1>0.5</s1>



<52>0.2</s2>
<53>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<53>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.6</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>



<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>

<date>2018-10-30</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-30</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>



<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-30</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>



<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-30</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>
<time>02:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</datalLine>
<dataline>

<date>2018-10-31</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-31</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-10-31</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>07:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-31</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-31</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-10-31</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>1.3</sup>
<ret>2.2</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>PDO</flags>
</dataline>
<dataline>
<date>2018-10-31</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>PO</flags>
</dataline>
<dataline>
<date>2018-10-31</date>



<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-10-31</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>



<date>2018-10-31</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataLine>
<dataline>

<date>2018-10-31</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataline>

<date>2018-10-31</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>

</dataline>
<dataLine>

<date>2018-10-31</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-10-31</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-10-31</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-10-31</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-11-01</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-11-01</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>
<date>2018-11-01</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>



<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<$3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>



</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-01</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>



<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-01</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-01</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<$3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-01</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>

<s1>0.7</s1>



<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-01</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>



<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-02</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-02</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>



<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-02</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>



<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>
<time>18:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-02</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-02</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-02</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-02</date>

<time>23:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-03</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>



<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-03</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>



<date>2018-11-03</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataLine>
<dataline>

<date>2018-11-03</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>

</dataline>
<dataline>

<date>2018-11-03</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataLine>

<date>2018-11-03</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-11-03</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-11-03</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-11-03</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</datalLine>
<dataline>
<date>2018-11-03</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-03</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-03</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>



<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<$3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>



</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>



<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-04</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-04</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-04</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.5</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-04</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-04</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>



<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>



<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-04</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-04</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-04</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>



<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-05</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>



<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>
<time>10:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-05</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-05</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-05</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>15:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<51>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-05</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>



<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-05</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-06</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>



<date>2018-11-06</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>

</dataLine>
<dataline>

<date>2018-11-06</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataline>

<date>2018-11-06</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataLine>

<date>2018-11-06</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-11-06</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-11-06</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>



</dataline>
<dataline>
<date>2018-11-06</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-11-06</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-06</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>



<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-06</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-06</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-06</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>



</usda>

<flags></flags>
</dataline>
<dataline>

<date>2018-11-06</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-06</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-06</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>



<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-07</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-07</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-07</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.9</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-07</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-07</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>



<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>



<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-07</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-07</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>



<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-07</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>



<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-07</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>
<time>02:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-08</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-08</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-08</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.6</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>07:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.9</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-08</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>1.1</sup>
<ret>1.5</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>PO</flags>
</dataline>
<dataline>
<date>2018-11-08</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.9</s1>
<s2>0.3</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-08</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<s2>0.3</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-08</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-08</date>



<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.7</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.7</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-08</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>1.0</s1>
<52>0.3</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>



<date>2018-11-08</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataLine>
<dataline>

<date>2018-11-08</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.9</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataline>

<date>2018-11-08</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.9</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>
<dataLine>

<date>2018-11-08</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-11-08</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-11-08</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<51>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-08</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<51>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.8</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>1.1</s1>
<s2>0.2</s2>
<s3>0.5</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.8</s1>
<52>0.2</s2>
<s3>0.5</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-11-09</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.6</sup>
<ret>1.2</ret>
<usda>
<s1>0.7</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>PO</flags>
</datalLine>
<dataline>
<date>2018-11-09</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-09</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>



<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.2</ret>
<usda>
<s1>0.9</s1>
<s2>0.1</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<53>0.2</s3>



</usda>

<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.1</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>



<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-09</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-09</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.3</ret>
<usda>
<s1>1.0</s1>
<s2>0.1</s2>
<53>0.2</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>
<date>2018-11-09</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.7</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-09</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>



<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-09</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>



<s1>0.6</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-10</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.2</ret>
<usda>
<s1>0.9</s1>
<s2>0.1</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>

<date>2018-11-10</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>



<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-10</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>



<ret>1.4</ret>
<usda>
<s1>1.1</s1>
<s2>0.1</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.7</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<53>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>
<time>18:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-10</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-10</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-10</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>-0.1</sup>
<ret>1.3</ret>
<usda>
<s1>1.0</s1>
<s2>0.1</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-10</date>

<time>23:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.7</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-11</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>



<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.3</ret>
<usda>
<s1>1.1</s1>
<s2>0.1</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-11</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.7</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>



<date>2018-11-11</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>

</dataLine>
<dataline>

<date>2018-11-11</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>

</dataline>
<dataline>

<date>2018-11-11</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>

</dataline>
<dataLine>

<date>2018-11-11</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-11-11</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-11-11</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.1</sup>
<ret>1.3</ret>
<usda>
<s1>1.0</s1>
<s2>0.1</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.7</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<53>0.3</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-11-11</date>
<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-11-11</date>
<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-11</date>
<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-11</date>
<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>



<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.9</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>



</usda>

<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>



<s3>0.3</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-12</date>

<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<51>0.8</s1>
<52>0.0</s2>
<s3>0.3</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>

<date>2018-11-12</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-12</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>

<s1>0.5</s1>



<s2>0.0</s2>
<s3>0.3</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>



<s1>0.8</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataLine>
<dataline>

<date>2018-11-12</date>

<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-12</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-12</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>



<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-13</date>

<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<$3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.1</ret>
<usda>
<s1>0.9</s1>
<s2>0.1</s2>
<53>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>



<ret>0.9</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>
<time>10:00:00</time>
<setp>0.0</setp>



<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>

<date>2018-11-13</date>

<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-13</date>

<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-13</date>

<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.8</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.6</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>15:00:00</time>



<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>18:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>

<date>2018-11-13</date>

<time>19:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>



<time>20:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>21:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>22:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.8</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>

<date>2018-11-13</date>

<time>23:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>

<date>2018-11-14</date>

<time>00:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>



<date>2018-11-14</date>
<time>01:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>

</dataLine>
<dataline>

<date>2018-11-14</date>
<time>02:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>

</dataline>
<dataline>

<date>2018-11-14</date>
<time>03:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<$3>0.2</s3>
</usda>
<flags></flags>

</dataline>
<dataLine>

<date>2018-11-14</date>
<time>04:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<52>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>

</datalLine>
<dataLine>

<date>2018-11-14</date>
<time>05:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>

</dataline>



<dataline>
<date>2018-11-14</date>
<time>06:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>07:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>1.0</ret>
<usda>
<s1>0.7</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>08:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.9</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>09:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>10:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.4</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>



</dataline>
<dataline>
<date>2018-11-14</date>
<time>11:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.4</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</datalLine>
<dataline>
<date>2018-11-14</date>
<time>12:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.4</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataLine>
<dataline>
<date>2018-11-14</date>
<time>13:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.8</ret>
<usda>
<s1>0.4</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags></flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>14:00:00</time>
<setp>0.0</setp>
<sup>0.4</sup>
<ret>0.8</ret>
<usda>
<s1>0.5</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>PO</flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>15:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.4</s1>
<52>0.0</s2>
<s3>0.2</s3>
</usda>



<flags></flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>16:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.7</ret>
<usda>
<s1>0.6</s1>
<s2>0.0</s2>
<s3>0.2</s3>
</usda>
<flags>D</flags>
</dataline>
<dataline>
<date>2018-11-14</date>
<time>17:00:00</time>
<setp>0.0</setp>
<sup>0.0</sup>
<ret>0.6</ret>
<usda>
<s1>0.4</s1>
<s2>0.0</s2>
<53>0.2</s3>
</usda>
<flags></flags>
</dataLine>
</data>
</sensorDataDocument>



